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Candidates are required to give their answers in their

1.  Answer any ten questions:

own words as far as practicable.
2x10=20

@I i 2 Ted wie ¢

a)

b)

c)

d)

Define GNP.

7o G BeAMCS <! Wi |

What is per-capita income?

Moy SR FIF A0 2

How is NNP different from NDP?

G SIOR TAMCS @ IG STeT@N SLAMCT N
A1 4|

Define saving function.

HLE SCFHOA HLE| WG |

What is ‘Natural unemployment’?

FrelifF [@FY FIE 2
Prove that APC+ APS =1.
@99 ¥ T APC+ APS =1.
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g)

h)

i)

k)

D
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What happens if planned saving is higher than
planned investment in the Simple Keynesian
model?

TR (PRI w0g AT Teew iftrfere Rifqwew
(oG (1 2= 2 e

What is the stability condition of equilibrium
income in Simple Keynesian model?

R (PR SLNETS SRS SIFAR I SISy
ECRIGR SR

Define Marginal Propensity to Consume.
A 2l eror HKes] vie |

Write the equlibrium condition in money market
in the IS-LM model.

IS-LM ST WQI%[ IO ACIS 5% SHL A |
Define the growth rate of GDP. How is it

measured?

%51 Srepg el B s Jieas Ficest vis | fFeica
93 SAfsTie! a1 =

What will be the effect of an increase in money
supply on equilibrium level of rate of interest?
S NN AT SRR R &R ol (S &oiq
AT ?

What is IS line?

IS (R FICF AT 2




n) In IS-LM model, other things remaining same,
a rise in propensity to save shifts
the  curve towards
1S-LM 3T ce, 1 379 Selfsafes e, e daerol
ImeiE_ @igesiteas@_ WS

o)  What is narrow money?
A oY I A 2

p)  What is stagflation?
fepeTerife FIE A0+ 2

2. Answer any four questions: 5%x4=20

@-CFI oo e Ted nile ¢

a)

b)
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How is equilibrium attained in a circular flow
of income of a closed economy? Discuss
briefly.

a3 7 Lot FoiE SiE JeEre e
IR e 27 Ol FLCHCHA A 54 |

Discuss briefly the problems in estimating

national income.

TSR S AT T ot AL 0ol S 54 |

What are the major types of unemployment?

Make a distinction between structural and

frictional unemployment. 2+3=5
(FFIR0T A etesfer fF 6 2 FoEIoTS gk TiTefae
(RIS &y {19 fefpotel |
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d)

g)

h)

3. Answer any two questions:

Discuss how the multiplier process works in a
closed economy without government.
FTRFIF-REI G0 T ST [Feid el efe=i

IS FCI A(CTo F |

Explain briefly the concept of paradox of thrift
when investment expenditure is autonomous.
RS9 AR Foge, GoRER Meriior FoelE
YIellS AT It 4

Discuss briefly the motives for holding money

in Keynesian approach.

@A org 9 4 AT e dmes Iewce!
RIGI PRI

What is money multiplier? How will you
determine its value?

wea wors(G 12 fFeica 221w Wi faeffae a2
Explain briefly the effects of inflation on

distribution of income.

SR B o YGRS FoTle] eG4 |
10x2=20
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a)
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What is national income? Explain in detail the
product method of national income accounting.

2+8=10
ST oI <6 2 &I Wy #Aficets SeAme orafe
ReAIGIDIE N
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Suppose in an open economy the following
relations are given:

431 I G Y& weifere FEfiie Fe bl g
IR ¢

C=50+0.75Y,
=20

G = 80
T=16+02Y
X =40
M=8+0.1Y

Where C= Consumption expenditure (CSI%<73),
I= Investment expenditure (Rfazial <53),
T= tax revenue (¥4 IE%),
X= export (3GI), M = Import (S=mife),
Y=National income (&SR =¥), Y SY-T=
Disposable income (14 =)
1)  Derive the equilibrium level of income
from above relations.
TAGR HFfe] (A0 I St o e
4|
11) Calculate value of consumption
expenditure at equilibrium level.
RPN SRER (ol T 11
1i1) Calculate value of tax revenue at
equilibrium level.
SN SRER 9 e Wefm 791
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d)
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1v)  Calculate value of import at equilibrium
level.
SR SRR SmifE fifasie fefa 511
4+2+2+2=10
1)  Derive the IS curve with help of diagram.
otz M=y IS ¢l e 21|
11)  Explain the slope of IS curve.
IS (=01 GBI <1<t < | 6+4=10
1)  Distinguish between Demand-pull and

Cost-push Inflation with diagram.

o

fotas M@ vifngim-afe ¢ Rga-glie
YRFRIfed e 2ie 59|
1)  What is inflationary gap?
YEPFITSH L FICE A0 2
111) How this gap can be eliminated?
eI 9 LI (5T 1 AT 2
5+2+3=10




